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Steppingstone activity
Lesson 1
LO: To multiply 2 digit numbers by 2 digit numbers
Success Criteria:
	1. Layout your multiplication accurately (brackets in line with answers)

	2. Multiply the top 2 digit number by the units first

	3. Multiply the top 2 digit number by the 10’s remembering to add a ‘0’ as a placeholder

	4. Add the two amounts together to form an answer.

	5. Layout your multiplication accurately (brackets in line with answers)
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Now you try…
45 x 23 = ?	   36 x 31 = ?		47 x 23 = ?		65 x 38 =?		52 x 42 = ? 	63 x 15 = ?	
Then, come up with some of your own!	



Year 5 Maths   
Lesson 1
LO: To multiply 3-digit numbers by 2-digit numbers
Task:
[bookmark: _GoBack]You are going to practise multiplying! 
Success Criteria:
	1. Layout your multiplication accurately (brackets in line with answers)

	2. Multiply the top 3 digit number by the units first

	3. Multiply the top 3 digit number by the 10’s remembering to add a ‘0’ as a placeholder.

	4. Add the two amounts together to form an answer.

	5. Layout your multiplication accurately (brackets in line with answers)
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Make sure all your answers are in the correct columns!!!

Year 5 Maths
Main activity
Complete at least 2 columns, more if you can!
	Task 1
	Task 2
	Task 3
	Task 4

	Practice
Have a go at these multiplications.

13 x 42

26 x 53

27 x 32

71 x 69

84 x 17

92 x 39

	Practice
Have a go at these multiplications. 

134 x 31

231 x 24

235 x 14

230 x 59

453 x 32

562 x 55

	Reasoning
Explain your answers.
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Here are examples of Dexter's maths
work.

98 7 3 2 4
x 706 x 7.8
5 9 ,2 2 5 9 2
& 2 |17 13
6 9,0 9 , 2,680
12 8 3 1 32 7 2

He has made a mistake in each question.

Can you spot it and explain why it's
wrong?

Correct each calculation.
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Pencils come in boxes of 64
A school bought 270 boxes.
Rulers come in packs of 46
A school bought 720 packs.
How many more rulers were ordered

than pencils? - (rrmmrrTTTTTT)
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A playground is 128 yards by 73 yards.

Calculate the area of the playground.
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